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05001 ) SR 1% g_:!é 11% = sk g (1) 213 g 888(1) 2 sokok sk sokok sk sk sk *kok
05005 ) P g_:;t% = sk 8(2)(; sokok sokok sokok sokok sokok sokok sk sk sk
05008 s <4tk & ; _:é 11% = $okok ggg 8 $okok $okok $okok Fokok 0.031 Fokok ook 207.43
05011 2 Ay T _ _:; 11% - ((J) ggggg g (1) g *okok *okok *okok *ekok *ekok *okok 507.47 1 8169 311.46
05014 3 B Ly 5 _:é 11% = *okk gg 2 *okk *okk *okok — :;195 = *okok *okok *okok *kk *kk
05018 3 ~x WY, BoE g_:é{t%% *ksksk 8(1) g Kk *okok 0.8_148%309 *kok Kok Kok Kok k3kk skekk
05034 3 SohELY B7. Kpitg E_:ggi = g:g; — = = = 0,8263313006 = = = 321.64




